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BEEISE 23, 371, 600
EE - FE-UES 23, 371, 600
T 23, 371, 600
T 23, 371, 600
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TRYEER 19, 936, 000
2 TRYEER 16, 000. 00 1,246 19, 936, 000

m 3
HEBREE FEL) 1,161,619
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2eE 1,161,619
REXE 1,161,619
3 KR - RrE 1.00 1,161,619 1,161,619
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EEIEE 23,377, 600
MiEIER 3,277,291 + 6,650, 395 9,927, 686
HBEREE GD 1,161,619 + 1,844,492 + 271,180 3,277, 291
HBERHE (BLE) 1,161,619
HBERER (F) 23,377,600 x 7.89% ((6.24% x1.00 +1.50% x 1.02) 1,844,492
BERERER 23,377,600 x 1.16% 271,180
RnEER 26,654,891 x 24.95% ((23.05% +1.17% x 1.03) 6, 650, 395
e i 23,377,600 + 9,927,686 33, 305, 286
—REEES 33,305,286 x 19.47% (19.47% x 1.00) — 3,147 6,481, 392
RFIIRELE 33,305,286 x 0.04% 13,322
T &l 33,305,286 + 6,481,392 + 13,322 39, 800, 000
HBETEALE 39,800,000 x 10.00% 3,980, 000
EEIZE 39,800,000 + 3,980,000 43,780, 000
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m3 1.00 1, 246 1, 246
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A 84. 00 13, 760. 00 1, 155, 840
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% 0.50 1, 155, 840. 00 5 779
= 5 1YE%HeH - 1.00K 1,161, 619. 00 1,161,619




